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_Ordinate . Numbers  Abscissa  Set _In the plane with every ordered pair is associated:
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_ i - Area of square with side *$” is:
i 1 i 2 ] 3 ; Ib!»cb’ﬂv’:&c‘.‘;" 3
| lhe number of altitudes in a triangle are:
g 360° 270° 1 180° | 9pe P AN
: e = | 'A straight angle contains: ;
'\' LSl e e B
: Ul i ot Gl ) ~Au¥ ; A SAS (YN e PN IO
ST | Identity | Column | Row A yarix consisting of one row iskalled:
comatnx - malrix matrix_ . matrix - S — —
: I' eer ¥ (x-2)F =4
2.6} {-6.-2} = {-6,2) 0,4y _ _ =N i - 6
L ‘Solution sep ol (X 421+ 4 is:
3 0 e trsatenad EEL g
: ! llon mone var |.1h[u is ol degree:
T 1
{-8.2) $.2) [ e J ¥ x- 1|~ 3
. '5]
cail i;..:., Lt e ] & ll..-...... Y NIrY - X
Lqu‘il to ‘Less than url-(m..llcr lfmnf Kess than - The symbol < stands for:
i Squalto | orcqual - R —— e
3qr spgrs | Q3pan ISpqrs ! ‘ ¥ Opar . 1Sars ;g
_ i JCF of 6pgr. 15¢rs 1s:
'I S , r ' —— s e i 5 3. e b =
3 2% Wi i | —:’vw»’f"w—- el e
o , ; ! I‘lu. number of methods to !md llL I is: !
' | ‘I P R
3 : 2 | I 0 ._..b '-,At‘d‘ F'rc.;}.a ‘2
€I & A cubic polynomial is of degree: ;
1 9 1 l.:' 'l";-:):-:d‘-‘t"'\?t -..:';‘-.'JMJ; l-,'
i L A quadratic polynomial is of degree:
2 +b%) dab  : glap? @ dad @+b) +(a-b)? =7 i
b 0 -dab o dab i 2t +b?) (a+b) —(a-b)* =7 15
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Write short auswers to any SIX parts.

AeyzFLingedd

g3 - - 4 F

Py =y syt -yt ] then find P(-2) e p-2) i Py) =y +%y* A W
bl 1

P el 5! —)’ 1
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implily T o 254 (D)

Rationalize the denominator: ‘—-.-_~- g .’:_..t.J"".'fE-,}' (iii)

V3 V2 J- '

A P | 2 o e 7 ] i
Factorize: X7+ y© =427 1INy X’ ty At 2xy ..._-.,) {iv)

eI (xad) L P) < Axt 10w 19 S AL ()
I P(x) =Ixt 10x® 1 19x 1§ divided by (x 1 3) then find remainder.
Factorize: - 343x° - 343 A (i)

Write the mames of methods o Tind HCE. -i'.‘*‘t.;l,':l')é:i.«.-”!"*j'm (vii)

o ; - : 2 o GE s T v
Find square root by [actorization: X7 - Axy +_\'1 X" = 2xXy -y -é,‘s Uef vaal e (vin)
0 = : i 2 } 2 e e R

Find LCM by tactorization:  x“yz , xy2z, xyz x{w, SNNZ, syt gl i Sk (ix)

ez B Lange$S
Ji=1=10 :£F O

x+2] =3 :$EJS G

Write short answers (o any SIX parts,
Solve: VWx-1=10
Solve: Jx+2] =3

; ; oo, =
Define linear equation. e ..(-:"w i

Solve by factorization method: I 1 St =1 axd +15n 80 = FS sl Gy)
. s T -

Solve by factorization method: @N VRN 2)=0 2xe3x- D=0 Em VS ra )

Define sealar matris with examples e aE o P e (i)

5 5
[

Write the matrices in the form of linear equations: B :ﬂ[

" W
Find the matrix produigts: l 0 _é]

dentifiPflie givén matrix is singular or non-singular: | i
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Write short answers to any SIX parts,

Define concentric cireles. L fSond i 0
Define adjucent angles. / _;{HE/,.J%,U? Gi)
Find the value of x in the given [igure: % VAV T A s LI Gid

Define circumeenter of a trinngle. -édip(‘/'/sﬂvi.ﬂf- (iv)
5§ 60° ,;!JGE(;J;JIKJ" 5 e L e ba BB Ll (V)

Draw an isoseeles triangle with length of equal sides Sem and the angle included them is 60°,
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Find lin, hypotenuse of the right isosceles lil:m;_..lt. cach of whose legs is /.
G 3 RS S G 10 2 A i S et A S DL F i)
Find the volume ol a block of wood whose length, breadth and height are respectively 10cm, Sem, Jem.
-y P Su i)

(2. 1) (4. 3) 8o i L 08 (in)

Deline cuboid.
Find the distanee between the pair of points: (2, 1), (= .3)

-L,{,T/?}USJ:.JIF/-Q:..’(/“/”QU)?:_Cs:.'aﬂlr'u}‘:c..(j}rllfﬂ,-"
Part - [I, Attempt any THREE questions, Each question carries 08 marks,

X’ +)* =86 \y*-lbfi,,;{r:“‘:éji.x-y,\

T S

04
Find the value of (\ —y)it x?+y* =86 and xy = -16
s Sk etz 0 ?z..ig_U'("‘ 2 x=27P(x)=@Rhkx - 26 Ji (L)
-2, tind k if remainder is Og

04
If P(x) = 3x" +kx - 26 is divided by
Find HCF by factorization: x* +x* = 6x% . x* =9x? | X' + 2R 6Ng = -8 F a1 100 (L) 26
N= -’ 2 X -4 ~
S E—3 L . L - P
4 s 3 . 4] =J )

04 i 3
x-2 2 x-4
b

04 Solve: =
g e () 7

e Vod iy, L R sz b

Find two consecutive positive even numbers such that sum off 111c1r squares is 104.
! 31].;\ =[1 y' ()

04
(AB) =B'A' S eitin B =[*.

04
It A =[f 5;'] B [ . 3] W verify (AB) =B'A".
2~ 5) =] :éd’;.'é)iu‘.)@gr!&er;f!Pﬂﬁ () 8
i v"'-"l;3x...?y;2

Solve the simulzmeouequations by the matrix inversion method: 2x - Sy

04 : 3Ix=Ty=2
Jusis L e MEBAD = 90° ! mAD = 4.8cm«mAB = 6.5cm JE U~ &t ABCD JJ"/ oftl )
ey

Drawayrcctangle ABCD in which mAB = 6.5cm, mAD = 4.8¢m and mZBAD = 90°

04
Measure its diagonals.
04 I'ind the volume of a sphere with radius 3.5¢m. --.’-/"36.' 5 Jl:xb’u’zg.,{r:"“(’fb’c.._/(..ﬂl) s
04 A D(1, 1) 45 C=2.5) i B4 =3) A ) b8 S F et (L)
Show that the points A(5 , 4), B(4 , =3) and C(=2 , 5) ar¢ equidistant from D(1 . 1)
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